& Z BBiE == N =

Ty Sths 1| 1 1
£E45>3 FIEpR & 58.4 2 |2 4

L RSRAN-T | EES 569 | 3 | 3 2
INEFI5—F  |(IEHIRE 53.4 4 | 5 3

N IHIFA)- |BEERE | 527 | 5 | 4 5
1 |[9-5vb tkak=s | 468 | 7 | o 6
L TraonqO— |EARA | 449 | 6 | 7 9
5 [¥vSybIA)  |WARE | 420 | 8 | 6 7
3 RZErl VRt - 9 | 10 8
9 s AR 10 | 8 10

2 ¥140 7= 2-8-10 ¥1,720

2-10 ¥380 p 2-10-8 ¥4,880




= -
-—

1a

1 PERIARMRUF - (IRAIRA 1|1|0]| 6
2 F—=7UNT1— |BEXIS 59.2 2 | 3 7
3 | 5 |940WFT=F |IEE 554 [ 3| 2 3
4 FTASNOHA | KIFE 53.6 4 | 4 1
5 233553 WABH | 480 | 5 | 5 9
6 N RITAPAZFA | FEEBRE 46.5 7 | 7 8
7 JAAETVUSYT  |(EAXRE 42.0 8 | 8 5
8 94 RPRZ1— (5K 406 | 9 | 9 2
9 | 1 |PZVWI1—> |[BERREE 6 | 6 4
AR
4 ¥630 3-4-5 ¥30,860
3-4 | ¥12,500 4-3-5 ¥187,370




= -
-—

1 | 5 |[IAA-=TUvS |[INFZE i 1 2
2 PLALAY ALFE 56.5 4 | 6 4
3 M ATI_F 3y N 56.1 2 1
4 NATNS > LA 50.0 5| 4 3
5 T INVEZE | BRERE 49.7 3 | 2 9
6 AFYFY BAEIRA 48.1 7 | 7 8
7 SrykII-  (EAXRE 46.3 6 | 5 7
8 I1TRNAF-T 8 | 8 5
9 | 1 [AXFalb133> 9 | 9 6
AR
6 ¥460 5-6-7 ¥990
5-6 ¥680 6-5-7 ¥6,370




= -
-—

1 {5547 PIRPELs 1 | 10 B
2 | 5 [3558uA9  |wxiBm | s9.2 | 2 | 2 ot
3 b Pl ad BAIRTE 51.1 3 1
4 D4 INAI Y EAaXRE 48.8 4 6 4
5 4% s W R VIR T i 48.5 8 | 3 3
6 Hh=2 AiFiE 46.9 9 Fi 8
7 N IFZUII IEHRE 46.2 6 | 9 6
8 | 1 |[TRJAN-I |s5kiE 462 | 7 | a 7
9 Ik)7—5— = 45.1 5 5 2
EH:EWEMM emEE 1406 10 | 8 5

Nk
i 6 ¥300 4-6-8 ¥2,700
6-8 ¥990 6-8-4 ¥11,300




= L
-—

1a

1 1 |FVADIN =thsE 1 1 4
2 s afils 57.9 — 1
3 5 |ANAINIT3A AR 55.3 z 3 2
4 b PEPPELPEUI Y. S0 54.9 5 5 5
5 DavJEF+7 |I\EEREA 46.9 4 | 4 3
6 L9 19z4 |#5KHE 43.8 6 | 8 7
7 50— IMRE 41.3 7 | 6 6
8 | I3V F AHEE 8 7 8
IhWR®
EH 3 4 ¥300 4-5-7 ¥530
4-5 ¥550 4-5-7 ¥3,050




= L
-—

1a

1 | |9 FrOOMY IABER 1|10 |1
2 J=TNA-9 LARR 57.5 2 2 2
3 WINATAY— |HLE 510 | 3 | 3 4
4 KUZROYE  |BER 505 | 4 | 4 3
5 S—-T14—E—-bF |KiFE 48.1 5 5 5
6 Jb34—-=3 LLIAERGE 43.4 6 Fi 8
7 I54F4H4L  |[IHARA | 426 | 7 | 8 6
8 4o5097204 [z 1882 8 | 6 7

IR
H R 8 ¥190 3-4-8 ¥720
3-8 ¥270 8-3-4 ¥1,810




= -
-—

1a

1 RU—=—H—-) |[IELKE 2 | 2 5
2 SHNFLOUF  IKBGE 1 1 1
3 DAY . BAIRA o 2
4 NIIRTAT =418 4 | 4 6
5 PELARINAT | KHEE 6 | 8 7
6 AVEE7 S0 IRz 8 | 7 8
7 J-ILINA  |BAKIBTE y—y 3
8 RIvIN—T1— |Bihss 5| 5 4
9 | 5 [YU-sO0-F |ERRE 9 | 9 10
10 | 1 |¥994> Ty N0 10 | 10 g
IhNRE
3 ¥180 3-8-10 ¥1,670
3-10 ¥540 3-10-8 ¥5,290




I

1a

TUHTAYT— | 1| 1 1
h—Yh—>h—> |FZRE | 615 | 2 | 3 7
10 =ik gy’ AR 57.5 4 | 2 2
K57 EREE | 53.1 | 3 | 4 3

.. ?;XI:;J =Y N 52.6 5| 8 5
n:-—..::'?-f? I 483 | 6 | 6 4
F4H 1 A 427 |7 | s 6

S A—>SAVEDR |BARA | 417 | 8 | 9 8
L1474=) IEHIRE 40.6 10| 7 10
B4 MILE - BAKRE | 362 | 9 | 10 9

7 ¥240 7-8-10 ¥990
7-10 ¥430 7-10-8 ¥4,060




= -
-—

1 IIEF-O Siise i ol 1

2 NFPIIELE  IKHEGS 59.2 Zm ) 2

3 Fuhi BIREE 55.8 3 | F 7

4 SAITFrYT  |IVRE 53.1 4 | 6 6

5 AL330) a7+ |HERE 52.1 6 | 3 4

6 ENT1-) WARRSTE 50.0 5| 5 9

7 EXPYIIUR EAERA 48.7 10 | 8 X |

8 YRV (IEARE 48.7 4

3 YYIavHy | KIEE 45.5 5

10 J1-HUTHR  ILEERST N 12 | 12

i1 TAPLARSY | BXIS 42.4 9 | 10 12

12 BYAX5Y wAl  [NS88H 11 | 11 10

IhNRE

4 ¥300 1-4-11 ¥2,660
1-4 ¥560 4-1-11 ¥9,490




== 2t g =% I3 ¥ -
- ] - sl hi=E [ |

O—-FATYFI1 [ ILAEES — 1
IJA9SF BRRE 55.4 v 3
BUTA(04>0  |IERE 54.2 3| 3 4
4 LErpy, HEZ 46.2 4 | 4 2
r—J34b EARE 46.1 6 | 6 5
wWI-347> |&ths 5|5 6
2 plomly Bl E Y N T | 7
3 ¥260 ) 1-3-4 ¥670

3-4 ¥920 pE 3-4-1 ¥3,710




I

1 AUAA A& 1 1 () 4
2 AT5974YY |BARA | 56.2 | 2 | 6 1
3 AF-Y1-5- |SihE 55.7 | 3 | 4 9
4 NYUST—-)LF  (HLEZE 51.4 8 3 2
5 LTS5y |IvkE 513 | 6 | 7 7
6 IXSHRE—F (A& | 505 | 4 | 2 3
7 |E0|z=PF1-0  |#kakE | 49.0 | 5 | 5 8
g8 BEN71-Fv—75Y 11 | 12 12
9 | 6 |14/9¥F1XA 10 | 10 11
10 [ PRy E 50 12| 11 10
11 b3 FILATSLAALA
12 | 5¥
Nk
"™ o ¥3,850 1-2-9 ¥17,200
1-9 | ¥20,220 9-1-2 ¥168,960




